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General Instructions

1 Jaft uear siferar=f &1 All question are compulsory.
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This question paper consists of 30 questions divided into four Sections A, B, C and D. Section A
contains 10 questions of 1 mark each, Section B contains five questions of 2 marks each, Section C

contains 10 questions of 3 marks each and Section D constains 5 questions of 6 marks each.
3 TTAT B 3IAT H BdcT 3ichel < |

Only sketches are to be given in the answers of construction.
4 UEl B 3IAT Ueel B AT A o fader & 3nciias H & &=t |
Answers of the questions must be in the context of the instructions given therein.
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Do all rough work only on the last pages of the Question-cum-Answer Booklet and nowhere else.
Section — A (TUs — A)
Question Nos. 1 to 10 carry 1 mark each. (Y%7 i1 1 4 10 0% UAD 1 3H &I 8 |)
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Rational number 23—22 will have terminating or non-terminating repeating decimal.

2) &l 9gU8 p(x) & fIT y = p (x) &1 % 1 @l H &7 1 5| 98U p(x) &
D] B G IRy |
The graph of y = p(x) for a polynomial p (x) is given in the future below. Write the
number of zeroes of the polynomial p (x).
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3) Sira BIfY o e fgamd weiexor € a1 8l
Check whether the following equation is quadratic or not
X =2x=(-2)(3-x)

4) w9 ST BTV | Find the value

sin10° —cos 80°
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AP.:— = = —. ... Write the first term and common difference.
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Write the perimeter of a semi-circle of radius r



7) S @ BT ® A AT AR

All the squares are : Congruent or similar.

8) 5 W A1 91t U gd & fdg P R WEf @ PQ @ O | Siarell U &l ¥ fdg
Q W 9 UHR e § f& 0Q=12 ¥+ | PQ & <iars aar 8Rf ?
A tangent PQ at a point P of a circle of radius 5 cm meets a line through the centre O at a
point 9 so that OQ = 12 cm. What is the length of PQ ?
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9) TP YT YT HRA Bl YTRIBAT ST HINTY o9 U Ridd hl T IR IBTAT SIidl & 2
Find the probability of getting a tail when a coin is tossed once.
10) o =RTed B HUR AR d Fofl IRARAT & dra Wid Y el Bl fbd UbR BT
AR HEd § ?
What type of ogive do we call to a graph which has been drawn between upper limits of
class interval and cumulative frequency ?

Section — B (TS — B)
Question Nos. 11 to 15 carry 2 marks each. (439 G&IT 11 F 15 db YAD 2 3Bl &I 2 |)
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Find a quadratic polynomial, the sura and product of whose zeroes are 4 and 1
respectively.
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If Q (0,1) is equidistant from p(5,-3) and R (x,6), then find the value of x.
14) Rig ST bt el @) ol & al &1 AN I R @ i @ A @
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Prove that the sum of the squares of the sides of a rhombus is equal of the sum of the
squares of its diagonals :
15) 3 UBR | Wl T8 52 Ul &I UH Tgs! H Udb O Haralr SIdm 8| 3dd! UTiidan
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One card is drown from a well-shuffled deck of 52 cards. Calculate the probability that the
card will (a) be an ace (b) not be on ace.
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A die is thrown once. Find the probability of getting (a) a prime number (b) a number
lying between 2 and 6.
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Section — C (T¥Ys — O)
Question Nos. 16 to 25 carry 3 marks each. (U3 J&IT 16 A 25 b UA® 3 Adl &I B |)
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Show that any positive odd integer is of the form 4q+1 or 4q+3 where q is some integer.
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Prove that 3+2+/5 is irrational.
1 1 1 1 13
8l BINTY (Solve) : —+—=2, —+—=—
(Solve) 2x 3y 3x 2y 6
T fafer | & PIRTT ¢ (Solve by graphical method)
x+y=10, y—x=4
Th A.P.H a=7 3R a;3=35 AT & d 3R s, DI

In an AP a=7 and a43=35 is given find d and s,

1+sin A
g BN (Prove that) 1+S?nA = SecA + tan A
—Sin

fdg (-4,6), [dg311 A (-6,10) 3R B (3,-8) ®I Sl dlcl Y@RIS & b U  fmfora
PRAT B 7

In what ratio does the point (-4,6) divide the line segment joining the points A (-6,10) and
B (3,-8)?

SHEESS e LRI INCIIN I SCRIL I

Find the area of the triangle whose vertices are :

(2,3), (-1,0) and (2,-4) .
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Construct a triangle with sides 5cm, 6cm and 7cm and then other triangle whose sides are

% of the corresponding sides of the first triangle.
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Draw a line segment AB of length 8 cm. Taking A as centre draw a little circle of radius 4
cm and taking B as centre, draw another circle of radius 3 cm. Construct tangents to each
circle from the centre of the other circle.
Rig TG b <1 GHEE gat § 9 ga B G o Vel ga B W B 8, ol faeg
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Prove that in two concentric circles, the chord of the larger circle, which touches the
smaller circle is bisected at the point of contact.
351 10 0 9Tl 9T BT UF AW dw W 90° HT BV fART HIAT B | AT B g g
PRgUE & &A% S BT | (n = 3.14)
In a circle of radius 10 cm an are subtends an angle of 90° at the centre. Find the length of
the arc and area of the sector formed by the arc. (x = 3.14)

3rerar (OR)
3MET H OACB &= O 3R 31 35 | arel Tah gad &7 aqIfer &1 If OD=2cm 2
Al BIIIfhd ANT T &3%hd A By |
In figure OACB is a quadrant of a circle with centre O and radius 3.5 cm. If OD =2 cm,
find the area of the shaded region.




Section - D (€¥9s — D)
Question Nos. 26 to 30 carry 6 marks each. (Y39 ST 26 ¥ 30 db YAD 6 AdBI BT 2 |)

26) fgama RO 2x° —6x+3=0 @I (a) fAfdaddm= (b) qal & Gfr o () Garh g3 4
Tl 1T DI |
Find out (a) discriminant (b) nature of roots and (c) root, using binomial formula of the
quadratic equation 2x* —6x+3=0
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The sun of the reciprocals of Rehman’s ages, 3 years ago and 5 years from now is % Find

the present age.

27) 1.5 HIeX AT Udh UeIdh U fIA- | 285 WX @ o WX 2| I9@! i@l 4 ol &
RRGR B1 ST BIoT 45° 8| RE &1 S o BIRY |
An observer 1.5 m tall is 28.5 m away froma chimney. The angle of elevation of the top of
the chimney from his eyes is 45° what is the height of the chimney.

3rerar (OR)
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Two poles of equal heights are standing opposite each other on either side of the road,
which is 80m wide. From a point between them on the road the angles of elevation of the
top of the poles are 60°and 30°respectively. Find the height of the poles and the distances
of the point from the poles.
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Prove that if a line is drawn parallel to one side of a triangle to interest the other two sides
in distinct points, the other two sides are divided in the same ratio.
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The slant height of a frustum of a cone is 4cm and the perimeters of its circular ends are
18cm and 6¢cm. Find curved surface area of the frustum.
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If the median of the distribution gives below is 28.5, find the value of x and y.
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